Spelling list: Y3 Summer spellings 2 (2)

prove

half
money
improve
sugar
could
would
sure

eye
should
who

Mr

mr
parents
Christmas
everybody
even
children
because

school
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Can you prove you are over 18?

Half of sixteen is eight.

Have you sufficient money for a cab home?

This course will improve your competence in spelling.
Too much sugar is bad for your teeth.

He went to hospital so they could mend his wound.
James would like an orange juice.

Make sure the root has plenty of water.

Two e's in eye - one for each eye!

A balanced diet should contain protein.

See who is at the door.

I enjoy the handwriting activity with Mr Cattell.

| enjoy the handwriting activity with Mr Cattell.

A child who has lost both parents is an orphan.
Christmas is celebrated on the 25th of December.
He greeted everybody with much buoyancy.

Even though it's winter the weather is not cold.

The children sat in rows.

The joke wasn't funny because it was crude.

| left school when | was seventeen.
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